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[1] DIN(ug-at L) No. 7
H23 H24 H25 H26 H27 H28 H29 H30 R1 R2 104 R3 =3
11730 | 11728 | 11721 | 11/25 12/1 11729 | 11728 | 11/21 | 11/26 | 11/24 T 11/30 AR
9.2 4.3 3.9 1.5 5.6 4.1 6.1 4.9 5.7 1.0 | F|ThA
9.4 4.4 4.6 3.8 6.6 8.0 4.0 5.5 5.3 3.4 5.5 1.0 |® H[7H A
10.3 3.5 4.2 6.0 6.4 5.7 6.5 5.6 4.6 2.9 5.6 1.0 |4& Bloh A
8.4 3.8 50 59 5.6 6.4 6.2 4.7 4.2 5.6 2.1 |= b} 1(7H2
8.2 3.5 5.1 5.7 5.2 2.1 6.2 4.4 4.1 5.0 2.1 |= b} 2|7 HA
8.5 3.8 5.2 6.5 6.6 5.8 13.2 5.2 5.0 4.0 6.4 29 |k B B FM|ThA
= IPEE
= 2(oHA
4.1 6.0 8.7 6.4 8.3 10.9 7.8 6.9 1.4 30 | M HET 1|TAA
4.1 7.6 11.9 5.7 15.5 1.2 3.9 8.0 30 | M B 2|7hA
6.2 4.9 5.7 5.2 5.0 3.1 4.1 3.7 2.0 4.4 1.8 |# 5 il R
6.5 3.2 3.1 6.2 5.0 3.5 2.1 4.2 B b} 1(7Hh2
6.4 3.4 1.8 4.3 4.0 1.8 2.6 3.5 B b} 2|THA
6.2 4.1 1.8 4.3 4.1 2.1 10.3 4.7 B b} 3|7hA
5.6 54 3.5 4.1 3.7 2.2 11.8 3.3 4.8 4.9 1.3 |E 3 1oy
5.6 4.0 2.6 .8 3.8 1.8 4.0 3.3 3.8 3.5 1.0 |E 3 2(om/
4.9 4.0 2.6 .2 4.0 2.2 3.9 3.3 1.5 3.3 1.5 |E R 3(pmasy
5.5 2.4 3.5 3.4 4.1 3.8 9.5 |E 3 AL A=Pa]
5.5 5.2 3.0 3.9 4.8 3.9 1.9 4.3 3.5 3.9 4.0 5.7 M 1oy
5.4 13.2 3.1 3.8 4.4 3.4 3.5 2.3 3.7 5.0 2.7 M 2lom/
6.0 10.0 5.0 3.8 3.4 6.3 2.8 4.0 3.9 2.1 4.7 1.5 | M AL A=Pa]
6.2 2.0 5.5 3.8 3.7 2.1 4.1 51 |m B & @74+
5.1 6.2 2.6 6.8 4.0 3.9 3.2 4.5 38 | B B ©Q7A#
5.3 6.0 3.0 1.0 2.6 3.4 4.6 3.7 31 |m B & Q74+
2.1 2.1 49 |In A B @7hH
4.2 2.9 3.4 1.1 2.9 20 |5 EZ|ThA
3.0 3.7 4.5 0.4 2.8 3.4 0.5 1.9 2.3 2.6 2.5 1.1 |5 = 1oy
3.5 3.9 4.5 0.3 2.5 2.7 0.4 2.4 2.2 2.3 2.5 1.2 |5 = 2o/
3.4 4.4 0.4 2.8 4.0 0.1 2.9 2.1 2.6 1.0 |+ = 2(om/
5.1 4.3 1.8 2.6 1.7 3.4 6.0 3.7 s E|7AHA
2.5 3.2 3.3 0.7 2. 4.2 4.8 0.8 1.7 2.4 2.6 1.5 |& # 1(7H2
3.2 3.6 0.8 .3 2.8 5.9 1.6 1.7 1.8 2.6 1.7 |& # 2|T7HA
2.4 3.1 1.7 2.1 3.3 5.6 6.6 2.0 2.2 3.3 1.6 |+ w2/
24.2 24. 4 5.2 22.5 31.4 13.0 10.2 8.9 33.6 19.3 16.2 |ZH 1 (RB)|ASTH
9.1 32.3 20.7 15.9 | &l 1 0.5m|RST7H
8.5 18.1 13.3 16.1 | & 1 (1.om|RSTH
10.6 21.6 3.1 5.9 21.8 14.8 3.8 3.2 18.2 11.4 M1 |FFN2(RB)|RASTH
3.1 18.2 10.7 12.2 | &)l 2 0.5m |RST7H
3.5 15.9 9.7 1.0 |FH N 2 (1.0m|RST7H
17.5 24.8 6.0 15.0 29.0 11.9 7.0 6.3 22.2 15.5 18.9 |[EH N3 (RE)|RSTH
5.2 21.1 13.2 16.9 |& % )l 3 0.5m) [RCT7#+
4.8 15.1 9.9 17.1 |[E ) 3 (1.om[RST7H
39.2 39.2 16.0 |ZH )l 4 (RB)|ASTH
26.8 26.8 16.6 |= % )il 4 0.5m) (RST7A
14.1 14.1 16.4 |E H )l 4 (1.om)[RST7A
32.6 32.6 15.7 |EH )5 (RB)|RSTH
34.3 34.3 16.2 |& % )il 5 0.5m)[RCT7#+
29.9 29.9 19.2 |Z &)l 5 (1.om[RST7H




(2] Yr(ug-at /L) No. 7
H23 H24 H25 H26 H27 H28 H29 H30 R1 R2 105 R3 -3
11/30 | 11/28 | 11/27 | 11/25 12/1 1/29 | 11/28 | 11/27 | 11726 | 11/24 | Ty 11/30 AH
1.07 0. 65 0.45 0. 81 0.76 0.15 0.76 0.98 0.70 0.35 | F|oHA
1.03 0. 64 0. 66 0.47 0. 66 0. 96 0.15 0.7 0.90 0.62 0.68 0.34 |® H(7H A
1.10 0.69 0.64 0.62 0. 60 0.77 0.78 0.74 0.94 0.59 0.75 0.36 |it a7 H A
0.89 0.55 0. 67 0.57 0.70 0.80 0.74 0.81 0.67 0.7 0.48 |z b 1({7H A
0.88 0.55 0.64 0.58 0.65 0.27 0.79 0.74 0.64 0.64 0.48 |z b} 2|T7H A
0.95 0.58 0.68 0.55 0. 65 0.63 0.12 0. 64 0.69 0. 61 0. 61 0.43 |’k ® 1B M|TH
= UBEE
= 2|T7HhA
0.62 0.68 0.71 0. 61 0.78 0.11 0.71 0. 62 0.60 0.36 |8 M HE 1[THA
0. 66 0.78 0.83 0.76 0.69 0.12 0.78 0. 60 0. 65 0.40 |= M H& 2|7H
0.66 0.52 0.45 0.51 0.53 0.33 0.54 0.67 0.41 0.51 0.38 |# s [ H £
0.7 0.54 0.40 0.44 0.56 0.22 0. 36 0. 46 B H 1({7H A
0.70 0.59 0.30 0.44 0.57 0.25 0.42 0.47 2] b} 2|T7H A
0.73 0.61 0. 36 0.44 0.58 0.24 0.65 0.52 B b 3|ThA
0.63 0.69 0.45 0.43 0.53 0.26 0.59 0. 65 0.44 0.52 0.3 |E R i A=Pa
0. 65 0.62 0.41 0.34 0.53 0.23 0.46 0. 66 0.46 0.48 0.33 |E R 2(ya/sy
0.59 0. 61 0.48 0.37 0.53 0.23 0.44 0.67 0.34 0.47 0.36 |E R 3lvmsy
0.60 0. 26 0.41 0. 66 0.42 0.47 0.44 |E R 4(pm/y
0.65 0.69 0.42 0.29 0.39 0.54 0.33 0.42 0. 66 0.43 0.48 0.43 pu W AP
0.58 0.73 0.35 0.31 0.39 0.56 0.34 0.35 0.51 0.41 0.46 0.43 pu N 2(pm/ Y
0.67 0.81 0.46 0.40 0.38 0.7 0.33 0.43 0.67 0.39 0.52 0.36 [ W 4({vm/sy
0.55 0.69 0.37 0. 46 0.41 0.74 0.39 0.51 062 |1 B & ®74+
0.64 0.76 0.35 0.33 0.44 0.74 0. 46 0.53 0.5 |1 B B @744
0.72 0.84 0.38 0.23 0.33 0.73 0.50 0.53 0.52 |1 B B Q744
0.33 0.33 1] 0.67 |fn B & @748
0.63 0.34 0.50 0.23 0.42 0.39 |5 b= b
0.44 0.55 0.39 0.20 0.31 0.49 0.21 0.24 0.52 0.36 0.37 0.34 |5 2 i A=Pa
0.47 0.58 0.33 0.20 0.29 0.42 0.16 0.26 0.51 0. 36 0. 36 0.34 |5 # 2(va/y
0.38 0.52 0.30 0.18 0.58 0.59 0.25 0.63 0.34 0.42 0.33 |# 5 2(pm/ Y
0.58 0.72 0.39 0.33 0.44 0.35 0.7 0.69 0.53 L Bl7Hh A
0.39 0.49 0.27 0.20 0.28 0.42 0.63 0.19 0.47 0.31 0.36 0.34 |&= # 1|7H
0.51 0.29 0.22 0.28 0.44 0.53 0.27 0. 46 0.35 0.37 0.35 |& o) 2(7AH A
0.34 0.32 0.30 0.27 0. 45 0. 60 0.49 0.51 0.36 0.40 0.34 |+ #loasn
0.40 0.56 0.00 0.34 0.72 0.87 1.37 0.22 0. 65 0.49 0.56 0.76 |EHIN 1 (KB)|RASTH
0.67 0.52 0.59 0.77 |E % )l 1 0.5m) [RS7H
0.68 0.62 0. 65 0.78 |E % )l 1 (1.0m) [RETH
0.56 0. 61 0.16 0.34 0.34 0.85 1. 50 0.33 0.56 0.55 0.58 0.67 |EH N2 (RB)|RSTH
0.57 0.53 0.55 0.69 |& % )l 2 (0.5m)[RSTA
0.58 0.54 0.56 0.67 |E % )l 2 (1.0m) [RS7H
0.50 0.57 0.26 0.26 0.56 1.01 1.45 0.28 0. 67 0.67 0.62 0.75 |EH N3 (RB)|(RSTH
0.63 0.67 0. 65 0.71 |& % )l 3 (0.5m)[RS7H
0.62 0.54 | 0.58 | 0.70 |[& % )l 3 (1.0m) |RCTA
0.56 0.56 0.70 |EH N4 (RB)|RSTH
0.62 0.62 0.71 |E % Il 4 0.5m)[RSTH
0.49 0.49 0.75 |E & )l 4 (1.0m) [RS7H
1.27 1.27 1.30 [EHNIS5 (RB)|RSTH
1.28 1.28 1.41 [ H 15 0.5mRSTH
1.27 1.27 1.69 |Z % )l 5 (.0m [RST7H




[3] Xk B No. 7

H23 H24 H25 H26 H27 H28 H29 H30 R1 R2 104 R3 3
1/30 | 11/28 | 11/27 12/2 11/24 | 11729 | 11/28 | 11727 | 11/26 | 11/24 Fiy 11/30 AR
18.0 18.0 18.0 #r F|TOH A
18.3 15.6 | 18.1 16.1 18.6 | 17.3 L H|7 5 A
it AT h A
H 1|2H A
= H 2(PHA
17.7 | 16.9 | 17.2 | 171 19.7 | 18.4 | 16.8 | 18.5 | 18.4 | 18.9 | 18.0 | 16.8 |k & s P 7HA
= 1| ThA
= 2(7AaA
|u% M B 1|ThA
[ B 2[onx
Bl 5 |7 h A
g2 b} 1|2H A
2 i 2|THhA
| b 37
18.3 16.0 17.0 17.0 19.1 17.5 16.5 17.8 18.7 17.4 17.5 16.7 |E R iA=P
18.3 | 16.5 | 17.0 | 17.0 | 19.1 17.6 | 16.5 | 17.5 | 18.7 | 18.1 17.6 | 16.5 |E & 2(ym/y
18.3 16.5 17.0 17.0 19.1 17.3 16.5 17.7 18.7 18.8 17.7 17.1 |E R 3|ya/)
17.0 | 16.2 | 17.3 | 18.7 | 18.1 17.5 | 15.7 |E & alymsy
18.0 16.0 17.0 17.0 19.2 17.5 16.8 17.0 18.6 18.3 17.5 15.8 w A=P
17.8 | 15.0 | 140 | 17.0 | 19.4 | 17.2 | 17.0 | 16.8 | 17.6 | 18.5 17.0 | 15.9 " 2(ym/y
18.0 15.0 16. 8 16.8 18.5 16.9 16.0 17.3 18.8 19.0 17.3 16.7 w 4(pms)
16.8 | 12.6 18.2 13.8 | 16.2 | 16.6 | 19.0 16.2 | 16.4 |In B & @774
16.8 15.1 18.5 15.3 17.0 16.7 17.6 16.7 153 |fn B & OQ7hH+
16.8 | 15.0 18.6 15.2 | 16.8 | 16.1 17.3 16.5 | 149 |1 B & O|7A
18.6 18.6 16.3 |fn B & @7hA
5 BT A
17.0 17.0 15.5 15.0 19.0 16.5 14.8 16. 3 17.5 18.0 16.7 16.0 |5 b= i A=P,
17.0 | 17.0 | 15.5 | 15.0 | 18.5 | 16.8 | 148 | 16.2 | 17.5 | 17.8 | 16.6 | 15.8 |& 2 A A=P]
18.0 17.0 15.0 16.2 15.0 17.0 15.0 16. 2 17.0 |+ g 2(pms
th Bl7h A
18.0 18.0 & # 1|7HhA
& # 2|7Hh A
18.1 17.4 16.9 21.5 17.3 15.8 17.6 18.0 18.8 17.9 17.2 |+ b L A=DAY
14.8 | 11.5 | 11.2 | 14.8 | 17.5 | 13.2 | 11.6 | 15.0 | 15.4 | 15.7 | 14.1 129 |EH 1 (RB)|ARSTH
15.6 16.0 15.8 13.1 |E%H 1 0.5m(RCT7H
15.8 | 16.7 | 16.3 | 13.1 [ & N 1 (1.0m|RSTH
16.8 12.0 11.5 14.9 18.0 14.0 11.8 15.0 16.9 16. 1 14.7 12.8 |EHN 2 (RB)|RDTA
17.0 | 16.3 | 16.7 | 12.9 [ & )l 2 0.5m|RC7H
17.0 16.9 17.0 129 | % )l 2 (1.0m) (RTH
15.9 | 11.8 | 11.2 | 148 | 18.0 | 13.8 | 11.8 | 15.0 | 16.5 | 15.8 | 145 | 13.2 |FH N3 (RE)|RLTH
16.7 16. 1 16.4 13.4 |5 % )l 3 (0.5m) (RET7H
16.8 | 17.1 17.0 | 13.5 |& & i 3 (1.0m [RST7H
15.9 15.9 13.6 |S &N 4 (RB)|RADTA
16.4 | 16.4 | 13.6 |& % )1 4 0.5m|R>7F
17.7 17.7 13.6 | &H Il 4 (1.0m) [ROTH
15.9 | 15.9 | 13.3 |&H 5 (RE)|R>7H
15.7 15.7 13.2 |E % )l 5 (0.5m)[RT7H
16.5 | 16.5 | 13.1 |& & ) 5 (1.0m|RST7F




(4] # % No. 7

H23 H24 H25 H26 H27 H28 H29 H30 R1 R2 104 R3 -3
11/30 11/30 11/27 12/2 11/24 11/29 11/28 11/27 11/26 11/24 Fiy 11/30 AR
30. 4 30.5 31.4 31.4 30.9 30.5 31.3 30.9 31.5 | |7 H #
30.4 31.9 31.1 31.4 31.4 30.9 30.9 31.4 31.6 31.2 31.6 |® A|7Ah A
30.6 31.9 31.0 31.5 31.8 31.0 31.0 31.6 31.8 31.3 31.8 |k a7 h A
31.4 32.0 31.2 31.3 31.9 32.4 30.7 31.0 32.0 31.8 31.6 31.9 |= b 1({7H 4
31.0 32.0 31.2 31.4 32.0 32.1 31.1 31.0 31.9 31.8 31.5 31.8 |& i 2|7H
30.7 32.0 31.2 31.2 31.8 32.3 31.1 31.3 32.0 31.0 31.5 31.6 |k ® 1B M|uAs
= UBEE
= 2|T7HhA
32.2 31.9 31.8 32.2 32.0 31.3 31.9 32.0 31.9 327 | M B 1|7hA
31.9 31.4 31.8 32.1 32.3 31.3 31.7 32.2 31.8 32.6 |= M ® 2|7h
31.6 31.6 31.9 32.3 32.5 31.6 31.9 31.9 32.5 32.0 32.8 |# ne F[ 75 4
31.6 31.9 31.5 32.2 32.0 31.8 32.4 31.9 B H 1({7H 4
31.7 31.8 31.4 32.0 32.5 31.9 32.3 31.9 = i 2|7H
31.6 31.2 31.3 31.4 32.6 31.9 28.17 31.2 B b 3|ThA
31.5 30.6 31.4 31.8 32.1 32.3 31.6 25.8 32.1 30.6 31.0 32.2 |& & i2=P]
31.5 31.8 31.4 31.8 32.3 32.4 31.6 31.9 32.2 31.3 31.8 32.2 |E R 2(ya/y
31.5 31.8 31.4 31.8 32.2 32.2 31.6 31.9 32.2 32.4 31.9 3.7 |& & <1A=P!
32.2 31.5 31.8 32.3 31.2 31.8 21.3 |E R 4(pm/y
31.6 31.3 31.1 30.6 30.7 32.2 31.4 31.4 31.9 31.2 31.3 29.7 | W AP
31.2 29.9 16.6 31.7 31.9 32.1 31.6 31.5 31.2 31.2 29.9 | 31.8 | " 2l
31.5 21.5 30.0 26.5 27.6 30.6 27.6 31.9 31.17 31.9 29.7 32.2 W 4{ym/sy
30.1 30.5 29.9 29.1 30.9 31.5 31.6 30,5 | 321 | B B O®7h
31.1 31.5 31.0 30.4 31.3 31.2 31.8 31.2 2.1 || B B OQ|7H+4
31.0 31.6 31.5 30.5 31.3 31.1 32.0 31.3 | 322 | B B O7h
31.8 31.8 32,1 |, B & @7H+4
31.6 32.1 31.5 30.9 31.5 | 32.4 |5 | IH A
31.1 31.9 29.3 32.2 31.1 31.1 30.3 31.1 32.0 32.0 31.2 32.6 |& # i2=P]
31.0 32.0 29.4 32.3 31.3 32.1 30.3 31.3 32.0 32.0 31.4 32.4 |5 # 2(va/y
31.3 32.1 29. 4 31.8 31.5 32.2 30.7 31.3 31.4 32.4 31.4 32.9 | 5 Ha=p!
31.2 31.5 30.4 32.0 31.1 31.3 31.3 31.4 31.2 31.3 L Bl7h A
31.4 32.0 29.5 30.9 25.6 24.1 29.7 31.6 31.8 27.8 29.4 32.2 |& # UBEE
31.9 30.5 32.2 32.6 32.5 28.0 32.0 31.2 31.9 31.4 32.3 |& o) 2(7AH A
31.6 31.7 32.6 32.5 32.4 31.4 30.9 32.1 32.4 32.0 32.8 | A=)
21.2 17.6 1.8 25.4 21.0 15.4 17.6 26.4 29.3 20.8 19.6 28.7 |EHIN1(RB)ASTH
29.3 21.3 25.3 28.3 |EH 1 0.m|RSTH
29.6 24.4 27.0 28.1 |[F &1 (1L.om|RSTH
28.3 21.2 2.3 26.5 25. 4 22.4 19.6 31.0 32.2 23.8 23.3 29.3 |EH N2 (RB)|RS7H
31.6 23.8 27.17 2.1 |[FH Il 2 0.5m|RCT7H
32.5 24.9 28.7 29.3 |FH 2 d.m|RSTH
25.3 19.6 2.0 24.1 26.0 19.3 19.0 29.1 31.3 22.3 21.8 261 |[EFHNS (RB)RCTH
32.0 22. 4 27.2 26.8 |&=% 3 0.5m|RSTH
32.0 24.8 28.4 2.7 [E %)l 3 (1.om[RT7H
21.3 21.3 28.2 |&®H 4 (RB)|RSTH
23.0 23.0 28.2 |&FH Il 4 (0.5m)|RCTH
25.7 25.7 28.3 |EH 4 d.m|RSTH
21.8 21.8 2.1 |EHNS (RB)RSTH
21.6 21.6 29.0 |&=% 5 0.5m|RS7H
23.5 23.5 29.2 [EH I 5 (1.0om[RTTH




